

Problem 	PROBLEM OF THE WEEK
[image: ][image: ]	
Name & Surname: _______________________________________ Class: _______
	Grade 6 & 7    2025 # 27		Hand in by Thurs 11 Sept

Robert chose a five-digit positive number. He removed one of the digits so that a four digit number remained. The sum of this four-digit and the original five-digit number is 52713. What is the digit sum of the original five-digit number?

23
One possible solution is 47921+4792
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Hand in by 1500 on Thursday (place in the box outside the foyer). The best solution (not just the answer) will be announced on Friday. The solution will posted on the website: http://markrushby001.wixsite.com/sv-maths/problem-of-the-week 
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